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0.6675 292.8182
0.6874 261.7273
0.6886 292.2424
0.71  262.303
0.7112 291.6667
data:= READEXCEL (“.\part 2.xlsx”, “Sheet1!A6:B60”)= | 0.7342 262.8788
0.7356 291.0909
0.7603 263.4546
a:=data’ \:=datal 0.7617 290.5152
0.7882 264.0303
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0.7112 291.6667 A
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0.7617 290.5152 w
0.7882 264.0303
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| : ] : 1.88-107"
man (a) =0.6664
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AN 6.5-10" 9.6747.10°
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max (w)=7.2179.10" max(a)=2.1117-10"
min(w)=6.4373-10"  min(a)=8.1634-10°



x :=cspline ((1 , w)

rl:=max (w)—0.0135.10"
r2:=min(w)+0.0135-10"

wl:=12,(r2+ (0.0135-10"))..r1
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Aa(al) :=interp (x,a, W ,al)
al:=submatrix (OL ,0,20,0, 0)

2l
]

A
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rl—r2

i::O..last(OL) wl:=r2+7-.
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But it looks like you don't need your interpolation function at all because
you only use it for the elements of a, so Aa(a) will always return the

corresponding element of w. See below



i:ZO..laSt(OL) wl :=r2+17-
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